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General Instructions :
Read the following instructions carefully and follow them :
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This question paper contains 33 questions. All questions are
compulsory.

This question paper is divided into FIVE sections — Section A, B, C, D
and E.

Section A - questions number 1 to 16 are multiple choice type
questions. Each question carries 1 mark.

Section B - questions number 17 to 21 are very short answer type
questions. Each question carries 2 marks.

Section C - questions number 22 to 28 are short answer type
questions. Each question carries 3 marks.

Section D - questions number 29 and 30 are case-based questions.
Each question carries 4 marks.

Section E — questions number 31 to 33 are long answer type questions.
Each question carries 5§ marks.

(viit) There is no overall choice given in the question paper. However, an

(i)
(x)

internal choice has been prouvided in few questions in all the sections
except Section —A.

Kindly note that there is a separate question paper for Visually
Impaired candidates.

Use of calculator i1s NOT allowed.

You may use the following values of physical constants wherever necessary :
c=3x10%m/s

h=6.63x 10734 Js

e=1.6x10"1C

Ho=4m x 1077 Tm A

gy = 8.854 x 10712 C2 N1 m~2

1
e =9x 109N m2C2

Mass of electron (m,) = 9.1 x 103! kg.

Mass of neutron = 1.675 x 10727 kg.

Mass of proton = 1.673 x 10~27 kg.

Avogadro’s number = 6.023 x 1023 per gram mole
Boltzmann’s constant = 1.38 x 10723 JK~!
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(C) Fereft arfirforan <6t amfoershar s &1 Tt B |

(D) ww e FATHAT S T8 ¢, = 0.693/k

1 5/ MnO 4 1 MnO,, # 319=Rd 3 % T8 3TTa2erh 3T 8

A 1F B) 3F
(C) 5F D) 6F
[Ar]3d 10451 seiereit~en fo=ame aret dcal @

@A) Cu B) Zn
(C) Cr (D) Mn

I} T T S fereht smerfies arfyfsran o qrem tfvrfoRe whtd €, U Wi Bt B

(A)  Irfferam < wfspaor et 6 (B) atrfspan <ht weigfraidt shi
(C) 3fSrfsran &t 3rfoerepar <t (D) f¥feran i hife i
yfegeehia Tfisfist 3

(A) [Ni(CN),|* (B) [NiCI,]*

(C) [Fe(CN)4I*- (D) [CoFyl*-

[aeam] & : Co = 27, Fe = 26, Ni = 28]

"l A [Co(NH,)(NO,)]** @1 [Co(NH,),(ONO)] %" *ged &
(A) A gHEIE! (B) st gHTaE
(C) 3IUHEHIISH HIEIE] (D) AT AT
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SECTION - A 16 x1=16

Question No. 1 to 16 are Multiple Choice type questions carrying 1 mark each.
1.  Which among the following is a false statement ?

(A) Rate of zero order reaction is independent of initial concentration of
reactant.

(B) Half-life of a zero order reaction is inversely proportional to the rate
constant.

(C) Molecularity of a reaction may be zero.

(D) For a first order reaction, t;,, = 0.693/k.

2. The charge required for the reduction of 1 mol of MnO 4 to MnO, is
A 1F B) 3F
(C) 5F D) 6F

3. The element having [Ar]3d!%4s! electronic configuration is
(A) Cu B) Zn
(©) Cr (D) Mn

4. The number of molecules that react with each other in an elementary
reaction is a measure of the :

(A) activation energy of the reaction (B) stoichiometry of the reaction
(C) molecularity of the reaction (D) order of the reaction

5.  The diamagnetic species is :
(A) [Ni(CN)J* (B) [NiCl,*
(C) [Fe(CN)g]*~ (D) [CoFg]*-
[At. No. Co =27, Fe = 26, Ni = 28]

6. The complex ions [Co(NH;), (NOZ)]2+ and [CO(NH3)5(ONO)]ZJr are called

(A) Ionization isomers (B) Linkage isomers
(C) Co-ordination isomers (D) Geometrical isomers

N\\NNNNANANANNANNNNNNNANANNANN
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7. fecfosh Tehiaiat 1 Shifteh TETSEES (CrOy) & 1o STty SIffshan & arg @
T ?
A) tfeseEs (B) M
(C) hEifagicteh 370 D) T

8. frfaReq % e s @1 9& IUPAC A © ?
CH;

Cl
(A) ARSI (B) e

(C) 1-FARN—4-TRreAss (D) 1-ARE—4-—FARSES

9. fr=fefaa § & &1 a1/3 WA o faehdieton 1 3¢ 8/ 7
(A) 378 S AHe] T Thed (B) G&l 1 SEAT
(C) T T UeFeh] ST (D) (A) 3R (B) gFI

10. A o1 afrfaferss 3t 5 w9 = 1 9 foreh gra feran s aesar 2 7
(A) TEm-Am i (B) YhIScT-shHed ATfsha
(C) <hicsl Faf¥fshar (D) IHA ATk

11. Terdl U7 fenerehl Sl o RO BT & 7

(A) feerfim Bl (B) feaerfim B2

(C) UT=hilsieh 3TA (D) LI 3T
12. fFerEierge SoE H frd s g IS Bid 8 7

(A) TATEHEEE 9 (B) I=TEE T4

(C) ETsgISH ey (D) BEHISETRT Sy
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7. What will be formed after oxidation reaction of secondary alcohol with
chromic anhydride (CrO,) ?

(A) Aldehyde (B) Ketone
(C) Carboxylic acid (D) Ester

8.  Which is the correct [IUPAC name for
CHj

Cl
(A) Methylchlorobenzene (B) Toluene

(C) 1-Chloro—4—Methylbenzene (D) 1-Methyl-4—Chlorobenzene

9.  Which of the following is/are examples of denaturation of protein ?
(A) Coagulation of egg white (B) Curdling of milk
(C) Clotting of blood (D) Both (A) and (B)

10. The conversion of phenol to salicylic acid can be accomplished by
(A) Reimer-Tiemann reaction (B) Friedel-Crafts reaction

(C) Kolbe reaction (D) Coupling reaction

11. Scurvy is caused due to deficiency of
(A) Vitamin B1 (B) Vitamin B2
(C) Ascorbic acid (D) Glutamic acid

12. Nucleotides are joined together by
(A) Glycosidic linkage (B) Peptide linkage
(C) Hydrogen bonding (D) Phosphodiester linkage

N\\NNNNANANANNANNNNNNNANANNANN
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(A) HUT (A) 3T FHROT (R) SHT & 8 3T R (R), AR (A) 1 Hal &
AR |
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For questions number 13 to 16, two statements are given — one labelled as
Assertion (A) and the other labelled as Reason (R). Select the correct
answer to these questions from the codes (A), (B), (C) and (D) as given

below :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the

correct explanation of the Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

13. Assertion (A) : Cu cannot liberate H, on reaction with dilute mineral
acids.

Reason (R) : Cu has positive electrode potential.

14. Assertion (A) : In a first order reaction, if the concentration of the
reactant is doubled, its half-life is also doubled.

Reason (R) : The half-life of a reaction does not depend upon the initial

concentration of the reactant in a first order reaction.

15. Assertion (A) : Vitamin D cannot be stored in our body.

Reason (R) : Vitamin D is fat soluble vitamin and is not excreted from

the body in urine.

16. Assertion (A) : Aromatic primary amines cannot be prepared by Gabriel
Phthalimide synthesis.

Reason (R) : Aryl halides do not undergo nucleophilic substitution

reaction with the anion formed by phthalimide.

56/2/3 ~9 ~ P.T.O.
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18.

19.

20.

21.

TUPAC HHeEs & ER fefeifiga Suggsist Jifiest & 919 a1dTse 2x 1
(a) [Co(NHy),(H,0)CIICL,
(b) [CrCl,(en),] CI

forelt a1fyfsram o a1 fomm 3t v TR & o s 8 7 foreht srfferan <A sife
g Ife 35k 9T fRRjeh <hl SehTeai 1 2 : 2
(a) s

() mol!lLg!

frefaRaa vamties avfienr 1 quf e ggfora i 2x1
() 8MnOj +3S,05 +H,0—>

(b) Cr,02 +3Sn2"+ 14H' —>

(A) T Hife i ATFET A > P % forw a1 f2mis 0.0030 mol L1s1 8 | At

TR HigdT 0.10 M & 0.075 M deh & TH | ToheHT 0T & 7 2
AYAT
(B) wife™ Hag W NH, &1 396 3 i JAMBRT § | Al k = 2.5 x 1074
mol L1 s‘léﬂ}NZ\’:ﬁIHZ%ﬁmﬁﬁW%? 2
frferRaa e o fow swmor e 1+1

(a) 443 K W p-FaRATsaS=iH, St NaOH % T A ohieh p-ATsaihiict
AT 2 ek FeAis—i 38T 3TMfehaes & T 623 K 3T 300 atm T 31ffshan

HATR |

(b) & FAREA, KCN @ |1 sk hiar 8 a9 G 3cdTe SUA 18218 sl 2
Sefeh AgCN o |1 I8 TRIAATSHHRATES ST 2 |

56/2/3 ~ 10 ~



17.

18.

19.

20.

21.

SECTION - B
Name the following coordination compounds according to IUPAC norms : 2 x 1
(@) [Co(NH,),H,0)CICI,
() [CrCl, (en),] CI

What is meant by the Rate law and Rate constant of a reaction. Identify
the order of a reaction if the units of its Rate constant are : 2

(a) s

() mol!lLg!

Complete and balance the following chemical equations : 2x1

() 8MnOj +3S,05 +H,0—>

(b) Cr,027 +38n2"+ 14H' —>

(A) The rate constant for a zero order reaction A — P is 0.0030 mol Li1s~1.
How long will it take for the initial concentration of A to fall from
0.10 M to 0.075 M ? 2

OR
(B) The decomposition of NHg on platinum surface is zero order reaction.

What are the rates of production of N, and H, if k = 2.5 x 104 mol L1 g1? 2

Give reasons for the following observations : 1+1

(a) p-Chloronitrobenzene reacts with (aq)NaOH at 443 K to give
p-nitrophenol whereas chlorobenzene reacts with the same reagent
at 623 K and 300 atm.

(b) Main product obtained when chloroethane reacts with KCN 1s
propane nitrile while with Ag CN 1t is ethyl isocyanide.

N\\NNNNANANANNANNNNNNNANANNANN
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22. 298 K W@ § CO, % g &7t fom 1 fis 1.67 x 10° Pa @ | ¥ 4 W
3.34 x 10° Pa  37aiid s fhU 7Y 540 g HIST It H CO,,  HIA[ <l HEAT 1 T
IS | 3

23. R T ; 3x1=3
() Toregd ot Scarer o forq Foefia Gt shy 37t e St ol ariare & ST @ |
(b) Treaieha Tgw 8 fieh 1 Ta Wisd g 3 3w ot wig § ST e el |
(c) Igd-3ITE TTetehed & YRNTT fgior & fezamn (DC) wgs T8 H It 2 |

24. (a) E HIUF—1.18 V 7 | THfiux d-scAieh axal sl qoiT § I8 HH 31T

(MnZ*/Mn)
ROk 91 8 ? 3x1=3
(b) AT AT FIR ?

(¢) Zn, Cd 3R Hg M 9Tqy &, T 7

25. (a) GANhar ey g 1 3T d g, FEfafad o deptfient 3t gahe
TER ] GHHTST : 2+1=3
(i) [Co(NH,)ICl,
(i) K,INiCl,]
[ae|T] & : Co = 27, Ni = 28]
(b)  d° AR T eiIIeh T fARau s A > P 2 |

26. (a) Tr=taRad i aftaiya i 2+1=3
(i) s &9 (TR
(i) Uit s
(b) A TR Sfcreemam srfirfsran o wfe wicdieht w=i @ 2

N\\NNNNANANANNANNNNNNNANANNANN
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SECTION - C
22. Henry’s law constant for CO, in water is 1.67 x 108 Pa at 298 K. Calculate

the number of moles of CO, in 540 g of soda water when packed under

3.34 x 10° Pa at the same temperature. 3

23. Give reasons : 3x1=3

(a) Fuel cells are preferred for production of electrical energy than
thermal plants.

(b) Iron does not rust even if zinc coating is broken in a galvanized pipe.

(¢) In the experimental determination of electrolytic conductance, Direct
Current (DC) is not used.

o

24. (a) E (MnZ* M) is —1.18 V. Why 1is this value highly negative in

comparison to neighbouring d-block elements ? 3x1=3
(b) What is lanthanoid contraction ?

(¢) Zn, Cd and Hg are soft metals. Why ?

25. (a) Using valence bond theory, explain the hybridization and magnetic
behaviour of the following : 2+1=3

1) [Co(NHy)4Cl,
(i) K,[NiCl,]
[At. no. : Co = 27, N1 = 28]

(b) Write the electronic configuration of d® ion when A,>P.

26. (a) Define the following : 2+1=3
(1) Enantiomers
(11) Racemic mixture

(b) Why 1s chlorobenzene resistant to nucleophilic substitution reaction ?

N\\NNNNANANANNANNNNNNNANANNANN
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27.

28.

29.

(A) Tr=taiga sl $i samen Hifse it aftrfea wfieo fakau 3x1=3
(a) deH-ThT AT=H

(b) TerE Afufern
(c) v Frfvfsham
JAgan
(B) T aafufshanati o srshn 4 A, B 3R C <t witeHd fafaw 2x1%=3

S0Cl, H,, Pd-BaSO, H,N-NH,
(a) CH,COOH > A > B > C

1.(DIBAL-H NaOH A
( ) o NaOH o

(b) CH,CN > C
2. H,0

frerferRad wreat <1 aieTRie IRTT ;

(a) TR SRIA

(b) fFTERTES

(c)  ITTeTeh UHHT 317

Qug -9

3¢ foemes @ faerem & sruan 9 foomm @ g foaoem § sreurm fereeft o wem 4
foreTrres 1 Tora: yafdd JaTg TRl Shaeldl 8 | TRERel GREeT I Th & 3R % &
ST I iRt TERI ShaT ST TehdT 2 | 372 § Wie o 19 3T 318 & qerd & I/l AR 6
fereeft rdfuremr &1t 8 | 372 I dq seiaeiiieh 3 H STeiohl S8l ol @il i
BT ST Hehdl 8 | AR Wil I &M o §1G Ush 1S I THA Il H 3R ga 1 Hqd
A o el H W@ M1 & | B T0Y 916, T el § @1 IS §A AT &, Afh THeh b
it ¥ @1 ST e a1 8 | IEoT i Uehdl o foT ST 711 SRl g1e, JeoT e
(T STUEET TUIEH) HgArdr 7 | Uiy Tl a9 gial 8 e o T 9Tl g
TET ST H AT B AR |
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27. (A) Explain the following reactions and write chemical equation involved :
3x1=3
(a) Wolff-Kishner reduction
(b) Etard reaction

(¢) Cannizzaro reaction

OR
(B) Write the structures of A, B and C in the following sequence of
reactions : 2x1%=3
SOCl, H,, Pd-BaSO, H,N-NH,
(a) CH3;COOH > A > B > C
1.(DIBAL-H) . Dil. NaOH A
(b) CHZ;CN > A > B > C
2. H,O

28. Define the following terms : 3

(a) Native protein
(b) Nucleotide
(¢) Essential amino acid

SECTION - D

29. The spontaneous flow of the solvent through a semipermeable membrane
from a pure solvent to a solution or from a dilute solution to a
concentrated solution is called osmosis. The phenomenon of osmosis can
be demonstrated by taking two eggs of the same size. In an egg, the
membrane below the shell and around the egg material is semipermeable.
The outer hard shell can be removed by putting the egg in dilute
hydrochloric acid. After removing the hard shell, one egg is placed in
distilled water and the other in a saturated salt solution. After some time,
the egg placed in distilled water swells-up while the egg placed in salt
solution shrinks. The external pressure applied to stop the osmosis is
termed as osmotic pressure (a colligative property). Reverse osmosis takes
place when the applied external pressure becomes larger than the osmotic
pressure.

56/2/3 ~ 15 ~ P.T.O.
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(a)

(b)

(b)

(©)

Tfdel® TS i IRETRE HIfT | T AT foeett (SPM) &1 9 §d15¢
Toreent 3T glcret™ qureor <t gisham o foharm ST EehdT B |
() 9 AT BRR BRI (RBC) 1 0.5% NaCl foetaa o @r Siar g df 3™
1 B 1 JULTHI 8 ?
CLE
(i) 1M KCI 3rar 1 M e foer § & forsent queen g 31fie g | 3
ST T e T |
TERYT TS Ueh STUHE TUHH H1 8 ?

30. UHIHT  ATgZIH TATY W Thish! Sefagi JH Blel & Toidfeh H01 o TgH &I ol @
SIER U & | K, 1 AW T 31fees g0m a1 pK,, %1 7H a1 63 BRT, &Re 341 &1
TS BN | Ueehlalel, 3o, WET TG <hl qorT H UHIA 3fueh &Rehid & | Ufetthiesh Wi
T TR 107 Ufcshet freerma <t gig o w1e-Tm e 91fen | Wiferd Ig Frafia su &
T 2 2 ifer fgciares Uerthfess Wi srvenfsr wa & Steffr forerm # et Wi Y
T 31k el &1 2 | TUAfees Ui i 3t Wferthioes Ui <6 gorn & goit
& B & | Joidgi Had i arel 998 9" — CH,, ~OCH,, —NH,, 37fc, &
I SEId & SISk goiaee Eied (3T 1ol Hieerud 9 59 — NO,, —CN, geis|
Tfe, WA 61 STEhIT 1 H L & | 3 TfcweIdi sl SwTd m- feufaei &t g o
p‘W&fW@ﬁT%I

(a)

(b)

56/2/3

frefrRaa ont 3k TR TUTT % Sigd §U shY § SFaferd hifT | shrer difew |

NH, NH,  NO,
NO

»  CHj
ARIAUHA i qorT § Ul 1 pK,, 7H 3115 =i grar @ ?



(a) Define reverse osmosis. Name one SPM which can be used in the

process of reverse osmosis. 2

(b) (1) What do you expect to happen when red blood corpuscles

(RBC’s) are placed in 0.5% NaCl solution ? 1
OR
(b) (1) Which one of the following will have higher osmotic pressure in
1 M KCl or 1 M urea solution. Justify your answer. 1
(¢) Why osmotic pressure is a colligative property ? 1

30. Amines have a lone pair of electrons on nitrogen atom due to which they

behave as Lewis base. Greater the value of K, or smaller the value of pK,,

stronger is the base. Amines are more basic than alcohols, ethers, esters,
etc. The basic character of aliphatic amines should increase with the
increase of alkyl substitution. But it does not occur in a regular manner as
a secondary aliphatic amine is unexpectedly more basic than a tertiary
amine in aqueous solutions. Aromatic amines are weaker bases than

ammonia and aliphatic amines. Electron releasing groups such as —CH,,
—OCH,, -NH,, etc., increase the basicity while electron-withdrawing
substituents such as —-NO,, —CN, halogens etc., decrease the basicity of
amines. The effect of these substitute is more at p~ than at m™ position.

(a) Arrange the following in the increasing order of their basic character.

Give reason : 2
NH, NH, NO,
NO, CH,4

(b) Why pK;, of aniline is more than that of methylamine ? 1

N\\NNNNANANANNANNNNNNNANANNANN
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31. (A)

31. (B)

56/2/3

@)

(11)

(a)

(b)

(a)

(b)

St faerem # fafaiaa 1 37k aEh ToT & S¢d g % § afed
Y | T ST | 1
(CH,),N, (CH,),NH, NH,, CH,NH,
AYT

¢ WET o fora & foTw Ufeenet Bomget w1 WHIHT-31qee th 3t fafy
TR 2 ? 1

G E-F
25 °C W FfctRaga SMfshan o T w4 frest a1l (A,G°) 1 diteher
hif 3+2
Au(s) + CaZ"(1M) —» Au3"(1M) + Ca(s)
EAu3+/Au =+15YV, ECa2+/Ca =-287V

ITferd shifSTe ok 25 °C T atfufsran Ta: yafda aft =1 & |

[1 F=96500 C mol]

Afe Aid H Ag,S B & | F1 W WiATAT %I Wi =i % S
T U9 H Tt g 31 "ehal 7, EH NaCl St ffsea fogga
et foreram w7 3red rfirfspen & fore wies sotereis favia

Ag,S(s) + 2e” —— 2Ag(s) + S* % L —0.71 V 8 3R

AB* + 8¢~ —— 2Als) H Tt -1.66 V7 |

T
Frefeaiaa = ufemnfyg i 2+3
Q) o fave

(i) seaA

frafafad 9 s emf i 25 °C WIVETH

Zn(s)IZn(z(; ! Cdfof ory | 04

fear g E qg2t/0q =040V

EZn2+/Zn =-0.76 V
[log 10 = 1]
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31. (A)
31. (B)
56/2/3

@)

(11)

(a)

(b)

(a)

(b)

Arrange the following in the increasing order of their basic
character in an aqueous solution : 1

(CH,),N, (CH,),NH, NH,, CH,NH,
OR

Why ammonolysis of alkyl halides is not a good method to
prepare pure amines ? 1

SECTION - E
Calculate the standard Gibbs energy (A /G°) of the following
reaction at 25 °C : 3+2
Au(s) + CaZ"(1M) —» Au3"(1M) + Ca(s)

EAu3+/Au =+15V, ECa2+/Ca =-287V

Predict whether the reaction will be spontaneous or not at 25 °C.
[1 F=96500 C mol]
Tarnished silver contains Ag,S. Can this tarnish be removed by

placing tarnished silverware in an aluminium pan containing
an 1nert electrolytic solution such as NaCl ? The standard
electrode potential for half reaction :

Ag,S(s) + 27— 2Ag(s) + S2-is—0.71 V and for

AT+ 3~ —— 2Al(s) is —-1.66 V
OR
Define the following : 2+ 3
(1) Cell potential
(11) Fuel cell

Calculate emf of the following cell at 25 °C :
2+

2+
Zn(s)IZn(O.lM) | Cd(0.01M) | Cd(s)
Given : E;d2+/Cd =-0.40V
EZn2+/Zn =-0.76 V
[log 10 = 1]
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32. (A) anfves g3 C,H O aTeT i Hreieh A ‘A’ CrO, % |1 JANTHAT Hteh
ifire ‘B’ SHT1 7 | Aifieh ‘B’ SEEH 3R NaOH @ Sefte forere o & m foh
S W3R C’ o1 diell e <l @ | 9 Affeh ‘A’ I 413 K WA H,S0,
% Ty T A B o Afieh D’ ST & S St HI % | arfifsean sees Aifies
B TR A A B 0, D 3R 6 geEe shife qen aftifera tamfies
wHteRT T | 5
Y
32. (B) (a) Tmfcifaa stfiferanati o fow wemafies gt forfaw 3+1+1=5
(i) =g HNO, % |1 hiFte i Afufsram
(i) B,H, * @ WA =1 sfulskn 3geh we=md 38ep H,0,/0H- g1
SATFEHTRLT
(i) WeAW t-geieTss = | CH,Cl sl sAffsran
(b) SRA-1-3TA N SFPHA-2-37 & A favg & & fole T qEEfs

gligrr G |
(c) Trefafaa = 37 srfia il < sgd 5T 0 H Safera shife :
33. (A) (a) CH,;—CH=CH - CHO % IUPAC 7™ STt | 1
(b) TS 3N TUTH T fasie w3 & fofu v et wamafes qdieror & | 1
(c) 3 F=feRad w1 S8 ufafad st ? 3

(i) 2T I siilgeh 3

(i) UIATA Bl TUF—2—3T7A §

(iii) U T 2-BISSIFIUIEh 3 1
COE

56/2/3 ~ 920 ~



32. (A) An organic compound ‘A’, molecular formula C,H O oxidises with
CrO, to form a compound ‘B’. Compound ‘B’ on warming with iodine
and aqueous solution of NaOH gives a yellow precipitate of
compound ‘C’. When compound ‘A’ is heated with conc. H,SO, at 413
K gives a compound ‘D’, which on reaction with excess HI gives
compound ‘E’. Identify compounds ‘A’, ‘B’, ‘C’, ‘D’ and ‘E’ and write

chemical equations involved. 5

OR

32. (B) (a) Write chemical equations of the following reactions : 3+1+1=5
(1) Phenol is treated with conc. HNO,

(i) Propene is treated with B,H, followed by oxidation by
H,0,/0OH".
(111) Sodium t-butoxide is treated with CH4Cl.

(b) Give a simple chemical test to distinguish between butan—1—ol
and butan—2—ol.

(¢) Arrange the following in increasing order of acid strength :

phenol, ethanol, water

33. (A) (a) Give IUPAC name of CH; — CH=CH - CHO. 1
(b) Give a simple chemical test to distinguish between propanal

and propanone. 1

(¢) How will you convert the following : 3

(1) Toluene to benzoic acid

(11) Ethanol to propan—2—ol

(111) Propanal to 2-hydroxy propanoic acid
OR

56/2/3 ~ 91 ~ P.T.O.
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33. (B) FAfREd Yok Heoivvl § §¢ §U TR Uere, STfiehtes STaT 3ca1al hl bt Ul

Hifta
S +
(a) (ﬂ\f'+HO—NHfiL»
()0 _
® e 2()=°

5x1=5

0
OH  SOCI,
© o =2,
A
OH
@ (\( CHO  \.onvma .
K\//J\COOH
0]

C
(e) [:::::] —_ [::::::I// CH,

56/2/3 ~ 929 ~



33. (B) Complete each synthesis by giving missing starting material,

56/2/3

reagent or products :

N +
(a) (\f +HO — NH, —°,

| S|

®O —
® Gz 2=

(¢ 0

OH

CHO
@ (\( NaCNHCI_
\/\COOH

0
I

C
(e) © —_ ©/ CH,

5x1=5
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